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10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM
SSC ONLINE LIVE CLASS
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BANK ONLINE LIVE CLASS
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(ENGLISH SPEAKING COURSE)
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07:30 PM to 09:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
SSC ONLINE LIVE CLASS

BILINGUAL
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SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

If the nine-digit number 708x6y82z9 is divisible by 99, then what is the value of x + y + z?

(a)5
01:00 .
(c)16
(d)9



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The ratio of the ages of A and B, 8 years ago, was 2 : 3. Four years ago, the ratio of their
ages was 5 : 7. What will be the ratio of their ages 8 years from now?

8 a9 Ud A 3fi¥ B B T BT AUTH 2:3 UTI IR Y U, SAB| 3T BT SUTd 5:7
mlgﬁaﬁm%mmmw@m? e

(a)4:5
m (b)5:6
(c)7:8
(d)3:4



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

‘< —1

1
If SecoO —tan© — then find the value of q?
- qQ° +1

(a)cosO
mm (b)cosecB

(c)1

(d)sin®



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

A boat covers 12 km upstream and 36 km downstream in 4 hours, while it covers 24 km
upstream and 54 km downstream in 7 hours. Find the speed of the Boat in still water.

TS A1d URT & Ufdpd 12 fhHl 3R URT & 3P d 36 fbHI pi gl 4GS A g

Pl &, Siafe gg 24 frfl yRT & 3R 54 fF M 4RI & Sqpa 7 oc H ag
aﬂ?ﬁglmaﬁﬁqﬁaﬁwm |

(a)8kmph
m (b)10kmph

(c)12kmph

(d)15kmph



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

From the top of a building 120 m. high the angles of depression of the top and the
bottom of a tower are observed to be 300 and 600. Find the height of the tower(in

meter).

U TR $ SHW I 120 H. T FHR & FW R 1 & @07 BT &1
3AGTHA BT 300 3R 600 3if® g1 HFR Bt HATS (Hier H) Jd I

(a)4o
01:00 oy
(c)80
(d)100



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

One shopkeeper calculates the percentage of profit on the buying price and another
calculates on selling price. When their selling prices are the same, then the difference of
their actual profit is Rs. 95 and both claim to have made 20% profit. What is the selling
price of each ?

TS HMGR Hd Yod W ATH & Ufa=Id $1 0T ST 8 3R CEQ

Wmmélﬁmmwwﬁﬁ,ﬁm%mu?

X ¥. 95 3MR I A 20% Y HHH PT g1a1 {51 8 | AP &1 fasha Yea
?

(2)1900
(b)2100

(c)2850
(d)2750



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

Tushar can row three quarter of a km against the stream in 11 1/4 minutes and down
the stream in 3.75 min. What is the speed of the current ?

dUR U fotft & i FiUTg. URT &t YRT & faeg 11 1/4 e o ofiR 4RT & 1
3.75 fUFIe § UR &% G&dl g1 YRT ®1 Tfd H1 87

(a)8kmph
m (b)4kmph
(c)6kmph
(d)2kmph



a speed of 45 km/hr. and 54 kmph respectively. How long will it take them to cross each

other after they meet ?

108 HieR 3R 112 Hiex ddl &Y 37 JHETGR Y@ R 45 fpeirder 1 nfa | ve-
IR B 3R I T &1 3R HHT: 54 [t ufay €21 freA & 91 3% 0P g 3
R 31 4 foddr 9a ainm?

01:00 "
(b) 8sec
(c)7sec

(d)10sec



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

For what value of k, will the roots of the equation kx?-5x+6=0 be in the ratio of 2 : 3?

fod aF & T THHR0T kn?-5x+6=0 & T 2:3 & 3UTd H G912

(a)o
01:00 .
(c)-1
(d)2



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

Two circle C (O, r) and C' (O', r1) intersect each other at P and Q respectively. 00’ cut
common chord at M such that 0Q =17 cm and OM = 15 cm then find the length of PQ.

a’r C (0, r) 3R ' (0, r1) TH U DI PHI: P 3R qQ W Ufdde Fd &1 00' A
TIC(0,1)+ ) T qaY

B M TR 59 TBR BT P 0q = 17 A 23X oM = 15 A, aY pq
a‘q'rémab“rﬁrml

01:00 o
(b)12 cm
(c)8 cm

(d)16 cm



%N 55C 2022:CGL+CHSL-CPO / A at 06:30 PM (1)

The In-radius and circumradius of a right-angled triangle is 3 cm and 12.5 cm, respectively.

Thearea .ft g&'%n%’?f%w 3R uRRfY paEr: 3 A 3R 12.5 9t 81 Arys &1

(A)84cm? (B)88cm? (C) 48cm? (D)64cm?

.;0
5 b
-

<

i Yor
bdme Yai



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

In an examination, 35% students failed in one subject and 42% failed in the other
subject, 30% failed in both the subjects. If total number of students is 2500 then how
many students passed only in one subject?

TP W& H, 35% B T faug | gqaﬁvu%g'a‘\fﬁwﬁugﬂvfgq,
30% BT gl faugl # xNvl ge| gle faenfdal ot Fa "= 2500 § df Fad
: ﬁwﬁ'ﬁmﬁﬁweﬁtﬁﬂﬁ? ¥

(a)1050
01:00 S0
(c)750
(d)a25



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The whole surface area of a rectangular block is 8788 square cm. If its length, breadth
and height are in the ratio of 4: 3:2, then the length of it is:

. S
e

(a)26cm
m (b)52cm

(c)104cm

(d)13cm



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The ratio between the diameter and height of a cylinder is 12:7. The curved surface area
of cylinder is 1056 cm2. Find its radius.

gﬁmymaﬁmnﬂ%lwmwmmmss

(a)llcm
m (b)12cm
(c)13cm
(d)14cm



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The average mark of 40 students in an examination of 100 marks in a class is 85. The
average of the top 15 students is 98 and that of the bottom 15 students is 70. Find the

average marks of the remaining 10 students.

TP HelT | 100 allﬁaﬁwumﬁglﬁmma’fmaﬁﬂaeiﬁss%l TN 15 BET

&1 3NTd 98 B 3R I & 15 TN BT 3NAd 70 21 AW 10 TN & 3T 3iP Y|

(a)89
01:00 -
(c)88
(d)86



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

If ax + by = 12, and bx — ay = 5, find the value of

(a2 + b?2)(xZ + y?).

(a)169
01:00 pinas
(c)225
(d)216



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

A sum of Rs. x amounts to Rs.8,563.50in 3 1/2 years and to Rs.10,527 in 7 years at y%
p.a. simple interest. The value of x and y, respectively, are:

Xx U 1 I 3 1/2 99T § 8,563.50 YA 3R 7 aul | y% Ufad a9 Bt T A 10,527
ST gl ST 2 | WTYTRYT TS | SPHT: x 3R y & | &

(a)6600 and 8

m (b)6800 and 8 1/2

(c)6600 and 8 1/2
(d)7000 and 8



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

In a triangle ABC, ZBAC =90° and AD is

perpendicular to BC. If AD = 8.4 cm and BD =

cm, then the length of BC is

4.8

(a)18.5cm
(b)15cm
(c)18cm
(d)19.5cm



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

If (a+b+c)=7,a2+ b2+ c2 =17 then find the

value of a3 + b3 + c3 - 3abc.

(a)6
01:00 .
(c)8
(d)9



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

In AABC, ZBAC = 60°, and O is a point inside
AABC. If Z0OBC is two times Z~OBA and Z0CB

is two times Z0OCA, then what will be the
measure of ZBOC?

(a)60°
(b)120 ©
(c) 80 °
(d)100°



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

A shopkeeper sells two sofa sets one at a loss of 15% and one at a profit of 15%, If the
selling price of each sofa set is Rs. 39,100. Find the percentage gain/loss in the whole
transaction.

UP GPTER &l AW He Th Bl 15% B 81 IR 3R TP Bl 15% & qTH WX
9941 8, gfc U@ HIwT A &1 Ay Yed 39,100 $UA g1 T¥ d--¢- H ufa=rd
ATU/ETR T B

(a)+ 5%
01:00 g

(c)+ 2.25%

(d)- 2.25%



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

The two equal sides of an isosceles triangle is 40 cm each and the third side is 30 cm.
What is the area (in cm?) of the triangle?

P GHfga1g FYS &1 g RIaR Yo # § gd® 40 94 iR F1-t Yo 30 It
%lﬁﬁﬁrmaagr(ﬁtﬁﬁ)w%? &

(a)75V 55
01:00 .
(c)75v45
(d)65v45



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

If a =1, then what is the value of 15a3 - (3a3-1) -

(4a?+a3-3)+ (a3-1)2

(a)1
01:00 -
(c)10
(d)11



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

n =475AB is a positive integer whose tens and units digits are A and B, respectively. If n
is divisible by 5, 8 and 9, then what is (10A

+B)?
n =475 YFTHP YU g foras 3R SHIS P 3P PHA: ANRB B
qﬁnSfSBQgTQﬁﬁlﬂW%,?ﬁ(mA+§)?ﬁT%? SR

(a)60
01:00 -
(c) 15
(d) 35



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

Printed price of a mobile is Rs. 6,400. It is sold in Rs. 2,560 with two consecutive
discount. If first discount is 20%, then what is the second discount?

Hiarsd &1 fiids F1Ad 6,400 TUY g1 98 AR &l B & 1Y 2,560 3UY |
gm%mﬁu—ﬁ-ﬂwzo%%a‘rgﬂﬁww%? R

(a)15%
01:00 o
(c)25%
(d)50%



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

If 3(sec?8 + tanZB) = 5, 0° < 8 < 90°, then the

value of cosec B is:

(a)1/2
(b) 1/v3
(c)2
(d)2v3/3



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

1020 chocolates are to be divided between 12 men, 11 women and 8 children. Each man,
woman and child will get chocolates in the ratio of 3:32. What will be the share of men?

1020 ATPAC DI 12 11 Afgersi 3R 8 T & a9 JicT 9T 8 1 Tdd I3,
w%mﬁwﬁaﬁsﬁmﬁaﬁﬁzﬁﬁ%wﬁm%wwﬁm?ﬂ

(a)324
01:00 a2
(c) 540
(d)a50



SSC 2022+ CGL+CHSL-CPO / M at 06:30 PM

A man travels an equal distance from P to Q with three different speed of 10 km/h, 12
km/h and 15 km/h. The total time taken by man to travel the distance is 45 minutes.

Find the total distance from P to Q.

TS ofer 10 fodfireer, 12 fpefirder 3R 15 frdirder &1 9 sreT-raTfa A p
q Q d® GH mmélwgﬁaﬁaﬂmﬁﬁmeww
T 45 e 21 A Q dP B1 g

(a)8km
01:00 sk
(c)12km
(d)9km



SSC 2022+ CGL+CHSL+-CPO / EET at 06:30 PM

What should come in place of question mark (?)

2=[Z+2-{1+T=2+T=2)}] =2

(a)9/7
(b)7/12
(c)12/7
(d)7/9






